RISCEE 3 Architecture Clock =load value into register
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Instruction: clear Operation: A=0;
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Instruction: addi data8 Operation: A = A + data8;
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Instruction: add addr8 Operation: A =A + Memory[addr8];
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Instruction: store addr8 Operation: Memory[addr8]=A;
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Instruction: bne addr8 Operation: if (A!=0){ pc=addr8; }
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Instruction: apc Operation: A=pc+2;
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RISCEE 4 Architecture
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T, all instructions # IR=Mem[PC] & pczoc+2 RISCEE 4 Architecture
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T, all instructions #opcode decgte RISCEE 4 Architecture

PO | (~AluZero & BZ) I PO=0 — B
BZ=0 ALUsrcB =X

MemRead

address

O mor

]

Read
Data

ALUSsrcA

Accumulator

Write
Data

|

MemWrite

RegWrite—p




T; clear # ALUOut=0 RISCEE 4 Architecture
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T, clear # A=ALUOut RISCEE 4 Architecture
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T; add # ALUOut=IR[7-0] RISCEE 4 Architecture
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T, add # MDR2=Mem[ALUOut] RISCEE 4 Architecture
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T, add #ALUOut = MDR + A RISCEE 4 Architecture

PO | (~AluZero & BZ) I PO=0 — B
BZ=0 ALUsrcB =1

ALU
ALU

MemRead

address

O mor

]

Read
Data

ALUSsrcA

Accumulator

Write
Data

RegWrite—p

|

MemWrite




T, add # A=ALUOut RISCEE 4 Architecture
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T, bne #if(A!=0){ PC=IR[7-0] } RISCEE 4 Architecture
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